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Direction : Answer the following questions (Q. Nos 1 to 30) by sel

PART - | / T - I
CHILD DEVELOPMENT AND PEDAGOGY / e frwra a fameme

ecting the correct/ imast appropriate options.

ﬁﬁrﬁ%wmmjasmimﬁ*fmmﬂmmmw

Assertion (A) : School curriculum should give reasonable space and value to

knowledges.
Reason (R) :  Supporting students to uphold th
Choose the correct opton :
(1) (A) is true but (R) is false.
(2) Both (A) and (R) are false.

(3) Both (A) and (R) are true and (R) is the correct explanation of (A).

(4)  Both (A) and (R) are true but (R) is not the correct explanation of (A).

ST (A) :  Forererl e ) Fanfu 5 e v A1 30w sfgen 2 e
FEOT(R) : e @ s wiepten Team = A @l

wferan =1 e =7 €
LEAEET ﬂﬁ <
(1) (A) §6l & %A (R) T7E 2
(2) (A) 3 (R) =i T €
_@Y (A) st (R) 3 T@ E s (a) 9 (R) T = e
@) (A) 30T (R) ZHi W ¥ S (A) F(R) A w6 w0
Socio-constructivist views of learning advocate that -
(1) Effective learning is activated by lecturing and explaining

(2) Effective learning takes place through the process of recall and rehearsal

(3) Learners receive knowledge passively from others
(4) Learners actively construct knowledge
W%mi@ﬁﬁﬁaﬁwm#wmiﬁ :
(1) =TT 33 R A A g e s
(2) W S drewa e wfw A vt faen @ &
(3)  Tereedi zed & ffErd ©9 9 1 0w €
47 Tl wfma &9 § 39 =1 faeim & €
Which of the following statements is not correct about learning ?
(1) Learning is facilitated by social action
(2) Learning as a product rather than a process
(3) Learning depends on learner’s previous knowledge
(4) Learning implies reorganisation of prior conceptual schemes
freferfias § @ F19 T FAA AT F S10A FE A E 2
(1) e BT W g st g ¥ '
sifip T WA T Af9q Tk IE
(3)  aHfee ferenedf % 7 I W R
(4)  iferm 1 aed g A= T e A #

P-I Mmoo 2

learner’s cultural

eir cultural identities facilitates learning.
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In the course of development, children achieve gross motor skills before fine motor skills. This
indicates that development is : ¥ (&

(1)  Linear (2) Proximodistal (3) Anarchic 4) Ce;:lhnlucaudal
e % 3 8, 4} Qe Wit Fer el W it Fve e wa #) i § i faw

(1) &= @) Hm{?ﬂ\rgu (3) EE A4y i

Reasoning, thinking and pmblem-‘;;ping are explained in which aspect of development 7

(1) Moral Development (2) Motor Development

(3) Sodial Development (4) Cognitive Development

T % fog wre  wd, f SfT TR FHME F 2 wl S § 7

(1) Afew fasm (2) e fm

(3) i &y S T

After getting ‘ot in the game due to.the rope getting stuck in her leg while jumping Aru says that

the rope deliberately got her out. Iabjwhat stage of Jean Piaget's theory of cognitive development
do children reason like this ?

(1) Sensory-motor stage N (2) Pre-operation stage

(3) Concrete Operational stage|~.. (4) Formal Operational stage

it g T T e S B A o e € o 39 e 3 g sz
%) i foart 3 T e RS ) T e & A 96 O % 7 9 €7

(1) = s u\ﬁ/m/ﬁ—aﬁam

(3) T HiwHFHE T (4) o= iR S

Proximodistal principle states that in infancy :
(1) development of language occurs rapidly as it is a sensitive period for development.
(2) Physical development occurs rapidly with the development of fine motor skills.

(3) the limbs continue to grow faster than the hands and feet.

(4) development proceeds fromshead to toe.

e g e & f e A )
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9.

Assertion (a) .
Reason (R) .

Leamnerg construct their own knowledge based on what they already know,

'Fi“dh,g patterns and making llﬁnkm with previous knowledge helps learners
Process information meaningf

Choose the correct Option : ~
(1) (A) s true but (R) is false. o
(2)  Both (A) and (R) are false. ('})I
() Both (A) and (R) are true and (R) is the cgrféct explanation of (A).
(4)  Both (A) and (R) are true but (R) is not the-forrect explanation of (A).
SHVTROT (A) :  Frame < et 2 R & 3 st e 3R g o e
H (R): = o iR ol T % wa e @ freli ) wmEd 9w e G
HHIfE F1 F Hee fiemd #)
T e 7
(1) (A) 5€ & a7 (R) 7Tefa §)
(2)  (A) 3 (R) S o £
_3) (A) 3 (R) = wE ¥ oi (A) 31 (R) T4 Iw%n
() (A) SR (R) 3 WE & SHfF (A) 7T (R) el T F B
~J

Assertion (A) : Childhood is experienced diffefently by children across cultures,

Reason (R) : Childrens’ development is umﬁﬂ

Choose the correct option : gi

(1) (A) is true but (R) is false.

(2) Both (A) and (R) are false.

(3) Both (A) and (R) are true and (R) is the correct explanation of (A).

(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).

sfumgs (A) :  T= g A= HET-3TETT HEHTTAT 8 A3 a3 #va T sman &
T (R) : = 1 fa e |
e fAwey gﬁ f
(1) (A) 58 & &fH (R) 7o &1
(2) (A) 3 (R) 2 T £

LLOL

A () A (R) 2 e () 3 ) e e

(4) (A}W(RJﬁﬂmtﬁﬁﬁ(Apaﬂ(R)aﬁ%;émﬂmtl
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10.

11.

12.

13,

Pl

theory children move from

Assertion (A) : In Lawrence Kohlberg’'s moral development
understanding consequences of acts to determine whether they hre good or bad
to understanding that rules and laws are flexible and can be changed.
Reason (R) : Lawrence Kohlberg argues that moral development occurs progressively in stages.
Choose the correct option :
(1)  (A) is true but (R) is false.
(2) Both (A) and (R) are false.
(3) Both (A) and (R) are true and (R) is the correct explanation of (A)-
(4) Both (A) and (R) are true but (R) isnot the correct explanation of (A).
s (A) : it e 3 e fa firgia 3 = 1 37 9 & ST s A
Hue ®, T8 999 W TeA ¢ R fem aﬁrwm%ﬁnaﬁwwﬂil
AT (R) : it e 1 T T i e i 9 @ O A €
et fawed =
(1) (A) =@ & S (R) T T
2) (A) 3 (R) <t T £
A5 (A) ¥R (R) 3 5 € SR (R), (&) F ) =T A £
(@) (A) 3 (R) 2 T ¥ AT (R), (A) 7w ST TE A7
Which of the following statements about inclusive education is not correct ?
(1) An inclusive classroom “accommodates differences in language styles and promotes
collaboration”.
(2) An inclusive classroom centres around “fixed curricula and standard assessment”.
(3) Inclusive teaching means “teaching in ways that do not exclude”.
(4) Inclusive teaching means “adopting pedagogies that support needs of all learners”.
ﬁﬂfﬁ@ﬂﬁﬁiﬂqmwmﬁﬁﬁlmﬁaﬁﬁ@ﬁ%?
Mﬁwﬂﬁﬁw"wﬂ?ﬂﬁ Sfat ) T FE § S e e &
@) ‘fAfyEm e mﬂtmm"ﬁimﬂwmﬂwm%ﬁﬁm%l
(3) wEEE e e % T A e S afespa AR
() TR forern o 37 T gy e S S S W e s w wwdd F
%n |
Lev Vygotsky proposes that is important for self-regulation in children.
(1) Adaptation (2) Organization (3) Disequilibrium (4) Inner speech
A T A e =it # = fe % forg W €
Sy FEEe (2) A (@) SEE (4) it amg
As per Jean Piaget's theory of cognitive development, which of the following ability distinguishes
concrete operational thinking from Pre-operational thinking ?
(1) Hypothetical reasoning (2) Object permanence
(3) Coordination of senses (4) Decentering
S s % waEAE fawm F fagia F FIET ferferfian | -4t & - 9 A
- W A FA H 87
A1) fcfers afdR (2) = e
() el w1 wE (2) fadmm
L 5 K
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14,

15.

16.

17.

critically 2 ollowing types of questions can help assess a student’s ability to evaluate informatioy,

( Q"‘Em:oﬂﬁ thal ask for examples that validate the text
5 estions that ask for a summary of a text
(3) Questions that ask for a simple definition of a term
(4) Questions that ask for the student's personal opinion
ﬁ#ﬁﬁwtmwmﬁﬁvﬁmmﬁtﬁimﬁxﬁmmﬂﬁﬂwwmmﬁ
TR F &2
i ﬂmﬁmaﬁmwmﬁm#mw%‘
() 3w S et wrg = wmger wim
(3) éma}wﬁmqﬁwﬂ?mwﬁ%
(4) AT B = 1 T &
Which of the following aptly defines relationship between cognition and emotion ?
(1) Cognition influences emotions but reverse is not true.
(2)  Emotions influence cognition but reverse is not true,
(3)  Cognition and emotion are two independent systems.
(4) Emotion and cognition are interdependent on each other.
ﬁqmaﬁﬁaﬁq—mamﬁmaﬂtmﬁi%aﬁa%ﬁuﬁmmﬂwﬁwﬁam%?
(1) #awmamaﬂaﬁwrﬁam%ﬁmmﬁqﬁﬂmqﬂ%l
) mﬁw&mﬁmm%ﬁmmﬁvﬁamﬁ%l
(3)  HH 3R A, ¥ T wonfert
) Wmmmﬁwkmwwﬁmméﬁ\&miu
Language development in primary classes is facilitated :
(1)  When teachers ignore and dismiss the mother tongue of the children.
(2) When teachers begin from signs and symbols rather than concrete objects.
(3) When teachers use concrete examples to refer to abstract concepts.
(4) When teachers stress upon and enforce the use of formal language.
HE s F a1 e e e g
(1) == Foieseh sl &6t TG 1 stEEeA i e =
(2) v foereh 7 Sgei & woma gl o W @ ye W E
mmwwmmm%mmmmmm%\ 3
@) Wﬁtﬁmaﬂwﬁmw%mwwﬂﬁﬂ%aﬁﬁﬁmm%:
According to attribution theory of motivation which of the following is more likely to result in
persistent effort and improved performance ?
(1) Internal attribution for failure as well as success
(2)  External attribution for failure as well as success
(3)  An internal attribution for success and an external attribution for failure
(4) An external attribution for success and an internal attribution for failure

m#mm&mmﬁmmmmmmﬁm%?
(1)  SFEFRe SR e 2 F fom st SR
(2) ST ST G F oy wmedt ST

) mﬁmmﬁmmmm%mmm

P-I
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18.

19,

20.

21.

22.

X

Indus‘ion of students belonging to disadvantaged groups demands :

(1) isolation in the classroom on the basis of social affiliation.

(2) same-ability grouping of students in the classroom.

(3) awareness and sensitization towards diverse traditions.

(4) evidencing and encouraging identity-based stereotypes.

Sfq w7 | Fatua faenfii % wwEe & fa

(1) SIS HaS & SR T FE H e He e

(2) W A & R T frenfid i wE § fwfsm w5 el

43y fafas oasi ¥ 9 Swresw SR waeiie #) werEn o el |

(4) - ST Tl i e iR s f s wE)

While participating in a sports competition in class, Tanyj tells his friend that he will participate in
the javelin throw and his sister can participate in jump rope because she is a girl and girls cannot
throw javelin. This depicts :

(1) Gender equity (2) Gender stereotyping

(3) Gender constancy (4) Gender equality

o e AP 3 e SR T T S e @ o e e S fewn < o
Wﬁﬂmﬁwﬁwﬁ%ﬁﬁww@%@rﬁwwﬂﬁuﬂt ki
i el R _

Q) S aEE ,{23/ et wfgarfa

(3) et FsEm (4) St HHE

Which of the following is a typical characteristic of Dyslexia ?

(1) Difficulty in physical coordination (2) Difficulty in spatial awareness

(3) Difficulty in creative problem solving  (4)  Difficulty in phonological processing
foreiferfan ¥ A Ted 3% F1 O fate faa FE-6 &2

(1) it = ¥ HiETE (2) et T/ § BT

(3) T W T S @ T FEE H HEE

Problem solving is fostered by :

(1) Passive imitation (2) Response Set

(3) Divergent thinking (4) Functional fixedness

St & @ T A T FAEN FHHE F F

(1) ffsFa s (2) Yialwa &
s fa (4) T fEr

While divergent thinking convergent thinking

(1) Promotes mathematical abilities; promotes verbal abilities

(2) Promotes verbal abilities; promotes mathematical abilities

(3) encourages multiple answers; is fixed on one correct solution

(4) is fixed on one correct solution; encourages multiple answers

e fm St s feEA |

(1) T el A e 2 & W S 1 T

(o) e s ) g & A e 1 A g

3) m{mﬁﬁmﬁamtwwﬁmﬁmmt
_ w'@mﬁmw%m{%ﬁﬁﬂmm%
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23.

24,

25,

26.

Which of the following would not be characterised as formative assessment ?

(1) An assessment task that is helpful in comparing students as per a standard set of criteria,

(2)  An assessment used to identify misconceptions in a student’s learning.

(3)  An assessment given at the beginning of a new concept to determine students’ prior
knowledge.

(4)  An assessment given during the class to provide ongoing feedback to students and teachers,
Frfofas 4 3 fed | A i T W S

(1) T oA w1 S qrEe F 0F W Y9 % sran ol #1 gern 0§ weHs ae )
(2)  TF AT T B F W F T RS %) veer 3 ¥ fer whm e e E

3) mﬁ%qﬁmﬁﬁmﬁam%m@wﬁaﬁmaﬁgﬁmﬁﬁmwml
8y STl I e 1 srrmeh wfgfee WS H ¥ ferg @ 3 A fem i |
Which of the following is a characteristic of effective feedback in the classroom ?

(1)  Itis only focused on the outcomes, ——

(2)  Itis timely and specific.

(3) Itis given only at the end of the task.

(4) Itis broad and generic.

frferfem & | swi wfgfe w1 o femm F-9 22
(1) =@ Faw uRomE 1 HEE a6 E )
(2) I OmEfEE i fafre g6 d -
(3) o had FE F o9 F 7 & W= E
P b R g A
As per Howard Gardner’s theory of multiple intelligence, which of the following set represents
correct match of intelligence and associated characteristics ?
(1)  Musical : performance or composition skills
(2)  Spatial : skill of appreciating the natural world
(3)  Intrapersonal : skill in understanding and relating to others
(4) Logical-Mathematical : skill of dance or athletic abilities

mm#w#m#m,ﬁ%ﬂﬁﬂﬂ?mﬁwaﬁm#ifwmﬂ#ﬂﬁ
W T A 5 § 2

(1) HEHY : YR A1 = A F e

(2) T : WA SaET H TR F F e
By s . g W wwe ol 9 i way wiita w9 F e
(4)  wfhe-nforta : Je m H-wa s

Which of the following correctly describes intrinsic motivation ?

(1) Motivation that comes from competition with others

(2)  Motivation that comes from a fear of punishment

(3) Motivation that comes from external rewards

(4) Motivation that comes from personal enjoyment of the task
Frfefan & | = siidfih sfiron & ot ai w2

(1) Eon Sit 588 % e wfrersi 4 &

(2) T S dE % v Y

(3)  Hfson ST ATt qreR & ST &

{4y n S % ¥ - amg @ et

P-I

LU e 8 K
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27.  Which of th-c following is a key principle of progressive education ?
(1) Learning should be l‘q"{f‘ on authentic tasks

(2) Curriculum should
(3) Standardized testin,

edetermined and universal
e best way to measure student learning

(4) Students should be passive recipients of knowledge from their teachers

ﬁmﬁﬂ#ﬂm e =1 wh v faio 42

ATy ey S B =

() wrew=at g fifa B e

@) o ¥ HE ) e A Wi qa e i

(@) ol = e el A e w1 i e e e |

28. Impairment is a
operative, physical
(3) biological, functional

condition, while disability is a g condition.
(2) social, psychological

(4) functional, biological

A TF Teefa & el e O fafa ¥

A foramor, WIS
@) S, FETEER

(2) TS, AT
(4) i, SfEw

29, Which of the following arggirmples of scaffolding ?

(a) Think-aloud (b)
(d) Half-solved example oy (e)
W @O0

@ @ ®

e § | P AT ® g2

(a) & FCER (®)
(d) 3 = far gl (e)
A (@ ). @ @

G) (a) ®)

30. According to

Prompts and cues (¢) Questions
Rote Rehearsal

@ @ ®) () ) @

@) (@) ®).©

T T TN © v
TeH SEd

2 (@ ®), ) @) ©)

@ (@ @) ©

Kohlberg's theory of moral development, at what stage are children self-centered

and see their own benefit in doing something ?
(1) at the third stage in the second level
(2) at the fifth stage in the third level

(3) at the first stage in the first level
(4) at the second stage in the first level

mtmmmwﬁ«w“

Ll ol

(1) gE R F AT

m/iﬁatmi;ﬁaﬁw.ﬁ\]

(3) wed T F v TR

@ wa w H g A
n
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Direction : Answer the

32.

33.

PART - Il [ 3T - 1}
MATHEMATICS / 7ifdr

Which of the following statements is correct 7|
(1) 1is both, a prime and a composite nu.mbsr;
(2)  1is neither prime nor a composite rlume._:_
(3) 1isa prime number
(4)  1is a composite number
et ol § 3 FH-91 w0 a@ 22
(1) 13 2w 95 SR ST He |
(2) 177 a9 & sie T & w8

3 1, TF v wen ¥

(4) 1 TF 9 wer ¥ E?
()
2 L
The number of degrees in 25 right angles is : N
(1) 240 2 330 _é):: 210 )
22 e i 1 o 2 =
(1) 240 (2 330 A3) 210 ()
A is always a regular polygon.
(1) Pentagon (2) Circle
(3) Isosceles triangle (4) Square
TH__ Nee ARy AR
(1) do= (2 7

(3) Tz g A ﬂ;

Sollowing questions by sefecﬁrrg'tkz}con“:/ most a i
‘ : ppropriate options,
Frfor : Freifafem s & 3z 23 & fore ey wad 7 ey gfrg

31.

285

285

SPACE FOR ROUGH wo?\?}'w = % o s

P
e
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34

35.

36.

The parcel sending rates are given below :
Parcel weighing (50 grams or less) : ¥ 15,00 parcel weighing (for every additional 50 grams) : 7,00

Meena wants to send a parcel to her friend Charuy in Delhi. The parcel weighs 350 g, Look at the
charges and select the correct cost of sending the parcel ;

(1) 55 (2) Ts7 (3) T42 (4) T50
T Y R R AR AT E .

TR H N (50 W 3R IEE FH) ;X 15.00 TR 1 90 (e sfafEr 50 T F ) 27,00
WMMWﬁmmwtﬁhﬁﬁﬁﬁilwaﬁrwmghaﬁﬁﬁt%wvrdam
&1 wel ufen w1 g9 Fifem

(1) ¥58 }25 o7 3) T42 (4) %50

Which of the following is not true about ‘multiplicity of approaches’ in teaching mathematics ?

(1) Offering such a choice allows children to explore and use the approach that is most natural
and easy for them.

(2) Itis crucial for liberating school mathematics from the tyranny of the one correct answer.
(3) Very often, there are many ways of solving a problem.
(4) It hampers the learning of child as it leads to confusion.
wfora % frem 7 ' fafia v a0 & fou frefares § @ S9-9 99 T8 57
(1) T6 T fahes WEqa T 9 o ) 39 I ] ST A S A e 5 ST e
il 37 fefu Had =i Siv s 8
(2) T T O T & HE I H I B q F F o, g &
(3) TH AT AR T € [ UF WA F QA F0 5w i 6
};}/ TE @ F ATH H 97 STe ¢ il 48 99 S S Fa

According to National Curriculum Framework, 2005, which of the following processes are least
relevant in a primary mathematics classroom ?

(1) Visualization (2) Making connections and representations

(3) Memorising formulae (4) Use of patterns

T YrEEEAl S, 2005 ¥ FHER, UF Mt 1 Fw 6 frefatad § 4 SE- viead gam 5w
w9 § wrEfTE E2

X grdwm (2) weEY T e SR fe
W T AR E (4) e (afTEr) = SE s

P4 i

SPACE FOR ROUGH WORK / T #Td & fem s

e
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38.

Which of the following statements is/are most appropriate for the idea of cognitive conflict in
teaching mathematics ?

(@) Thoughtful efforts of a teacher to expose children to cognitive conflict can enharice their
mathematical understanding.

(b) It is not useful for promoting mathematical understanding in children.

(€) Children get confused so cognitive conflict must be avoided.

Choose the correct option :

(1) Only (a) 2) Only (q) (3) (b)and () (4) (a) and (<)
wfors feven & T W ¥ foem % fo Frefetan § @ F9 @/ 9 g8 I €7

(a) waTTEE W ¥ Wi A= F) G AR e % RERge WA § S i 6 A
fom e £

(b) =% ==t o O THE F =gE 39 ¥ e g @’ oy

(c) HAFTEE T g FE e FHiE T = wihe & e E)

e

A @) (@) ¥ () G OO @ @

Which of the following statement is most appropriate ?

(1) Use of teaching-learning material in mathematics class consume students’ time for practice.

(2) Students do not enjoy riddles in mathematics class.

(3) Mathematics lab is essential as it provides opportunities for hands on activities for students.

(4) Charts are used in mathematics class as an effective teaching-learning material.
frefafE § 9 #1791 Fy go8 Al 39 €2
(1) foreo-siferms g w1 SgAm v w1 wa H fEERE F e w1 w s wEm )
(2) el nfor %1 e # efedi § g 7€ oA
e T =1 Fa S € i T i nfafaftE w1 e vew i )
(4) =EH M 1 Fen H v g - s /e e

SPACE FOR ROUGH WORK / T &4 & fa wmg
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9.

41.

i 42.

Yamina threw a die 10 times and got the following results - >

5366145332

Which of the following numbers she got the maximum number of times ?

m 1 2 5 @) & 4 3 =

e 3 UF 9 10 90 FBen S 3 frefafae ofiom wE 59 ,‘f%

5366145332 :

o oA d A R i m SR ddenma g7 >

(my 1 2 5 @) 6 A 3

Which of the following is true for word problems in school mathematics ? =

(1) ts‘mdprobimuamimporunlm“mndarychssao-rdy _

(2) Word problems focus more on procedural knowledge in mathematics.

3) Wardpmblm\smfermmrdmw}me&wmﬂdfmhﬁ&wsimaﬁunmmafmwhﬂe
a specific mathematical technique can be applied.

(4) Word problems are not examples of mathematical modelling.

e § 3 Fa-m e wfom § gand g & fow w8 37

(1) FERE TEE Faw A S | wgeayd o £

(@) TEH TEE e | FHEfEtE I W At Sz "

ymﬁwmmﬂmﬁamzaﬁWMﬁﬁﬁmmmm%w
TR AT A . S

(4) TAVE Haw o e % SEE A i

What should be subtracted from the sum of 9909, 9099 and 9009 to obtain 25454 7

(1) 2536 (2) 2563 (3) 2356 (4) 2365 F

25454 T FT 3 o0 9909, 9099 T 9009 F 4 4 | P T2 &M 7 B

(1) 2536 AT 2563 (3) 2356 (4) 2365 =

One millimetre is the same as : .

(1) 001m (2 01m (3) 0.01cm (4) 01cm

uF faeTz F T

(1) 001m (20 01m & 001cm . (4) 0lem

A jumps 3 and a rabbit jumps 7 steps at a time starting from a place O. At which of the

fomgmpﬂ,smbothwﬂlbeﬁxmpﬁ\g together ?

(1) 378 (2) 354 (3) 343 _(4) ‘371

ol T O @ Y T4 T Hod 3 FEH 2 uF Ao 7 %2E w gEn o g1 e A e s

W & 2 uF @4 g ami 7
(1) 378 2] 354 (3) 343 4) 371

A

SPACE FOR ROUGH WORK / % &Td & form wmg

s
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44.  Wh;j : .
o h:;'_ of the I(‘"!'f"*’ll‘\g model is least appropriate to develop the conceptual understand
garding the relationships of ones, tens and hundreds in early grade learners ?
() A.bams (2) Place value chart
(%) Dienes blocks (4) Money
ﬁ%ﬁ%mmmmmﬁ;mﬁﬁm, e S S Haa F AR srmoer
e fawfi w5 fom w8 w5 3 # 7
(1) fram (2) = o
B) A =y PO
45. How many packets of % kg salt can be made from 7% kg of salt ?
1y 72 @ 90 (@) 45 (4)
7% kg T Y % kg T 3 ) e 7 o w80
a 72 @ 90 @) 45 4 60
46. A student of class III solved 26 x5 as 216
X 5
1030

Revisiting which of the following will best reredia
(1) Recalling multiplication tables

(2) Ome to one correspondence

(3) Multiplication of one digit by one digit

(4) Concept of regrouping

wm%wﬁmﬁ%z&ma‘tmwmﬁm

te this misconception ?

26
X 5

1030
mﬁﬁwmﬁmﬁw%mmmém?
g &S] 1 Teame |

(2) UHFT gl

(3) UF F F UF st 7 oy

(4)  GTHYEHR F sgemEon

SPACE FOR ROUGH WORK / T% #Td & ferm wmrg

i
50

1,% 1

#l=

Pl IR0 14
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49.

_ Which of the following is/are related to early number concept formation ?

(a) One toone correspondence

] Hierarchical inclusion -
() Basic operations L
Choose the correct option ! .
(1) (a)and (®) 2) Mand () ! @) Only (@ (4) (a) and ()
et # 8 9 w/A S wEn s % w0 8w

(a) T HTM f‘ :‘.'

() e o

© T g

F@ﬁmgﬁ:
(1) (a) 3 (D) @ 3t @) (@) /ﬂ/ (a) 3 ()
Which of the following

|
)
|
|

National Education Policy (NEP) - 2020 talks about ” Knowledge of India”.

are not included in it ?

(1) Field visits to different states as part of cultural exchange programmes.

(2) Formal examination to assess the knowledge gained by the students.

(3) Knowledge from ancient India and its contributions to modern India.

(4) Tribal knowledge, indigenous anq,f.tii ditional ways of learning as part of various subjects
like Mathematics, Astronomy, Medicine, Agriculture etc.

g fore - (T2 -zozn"mrm;-;_mi"awﬁmmtn foerfenfiam § B 0 T St

ol 1Y

(1) Wi mﬁ-ﬁmﬂﬂ%@fﬁaﬁﬁfmnﬂmﬂm

@) e & 7 A S F e 35 eyt e

3 s v % T s 1 TSR SR A

wr e Fod 37 for, e o, e, e e 3 el 5 9 e 1, HF

it 2t T TE |

The value of 25.3X5—35+5—3><13.5 is:
(1) 95.0 (2) -26.5 (3) 283.05 \_W/ 64.0
253x5-35+5-3%185 I ¥

95.0 @) —265 (3) 283.05 8y 640

A B
aoucugfonxmwitfﬂmm

SPACE FOR
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50.

51.

52.

Which of the followin,

) £ is most appropriate to introduce ‘Data Handling’ at primary stage ?
Sh

Owing population census of a city for five years and asking students to compare population
growth,

(2)  Drawing a bar graph on the blackboard and asking siull'(?’s to read the data from it.
() Asking the students to read time tables of bus and trai ings.

(4)  Within classroom, collecting statistics of students’ heig ar i food; colour; cartoon etc.
and asking questions related to data. o

W &R T st 1 yaa  feem ¥ for freffen & HEY IYGH E 7

(1) ferefefai i us yrex 1 vt W F S T frwm o4 1 e 9fg 1 g F 0
F FET) 3

2 meéa-mﬁﬁmmaﬂrwwﬁmﬁﬁmwm%mmu

(3) ﬁ?ﬁﬁaﬁwa‘nﬁ#mﬁw—mﬁﬁfﬁm%mml

Mmﬁﬁaﬁﬁaﬂm.mwﬂm@m W, FE TR W R 3y N A S W
HMIRE W99 g

According to National Education Policy (NEP) 2020, assessment of learners include :

(1)  Cognitive, social and spiritual domains

(2)  Physical and psychological domains X

(3) Cognitive and physical domains L)

(4) Cognitive, affective and psychomotor domains Lo

T e i 2020, F STER, FenfE w0 rHem (=1 o 2 ¥
T, AT, ST S [~

(2) wifas ik SHETF AP ™~

(3) HIAH SR Ao SEm E

(4) FIETHE, MEHE S TR oA

Brij had a wire of length 100 metres to cover the land of his choice. He wanted to take the biggest
land. Which of the following measurements should he choose to take the biggest area ?

(1) 25m x 25m (2) 5mx45m
(3) 15m x 35m (4) 30m % 20m
T % UTH AT T F S S F ferw 100 Hrew w5 AR 1) I TG FT A F g S e Al
mﬂammmmmmmmmmmmma?

(1) 25m x25m (2) 5m x 45m
(3 15m x 35m ) 30m x 20m

1

P-1 N 16

SPACE FOR ROUGH WORK / T %Td %! et s
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etc.

Akt

L

55.

Which of the following statement is least appropriate for encouraging mathematical learning ?

() Mathematics learning is not gender specific,
(2) Discourage intuition as it hampers the development of mathematical ideas.
&) Failure does not imply that students cannot do mathematics.

(4) Everyone can learn mathematics,

et ¥ R W o ot s o) e w0 ¥ forg e wm I 87

() v sifvms St fafere e v

gy SR R e e e w0 a e frard 9 P 0 5 a0 e b
(3) SEwET & e ww T o e vfr e |

(@ o e

A number becomes double if it is increased by 8. What is the number 7
a 12 @ 16 @3) 6 (4) 8
o e 73 e fe A, A v g @ o ¥ A wem e ?

@ 12 N 16 @) 6 i

Which one of the following costs least ?
(1) 7.5 dozen items of ¥ 750 each item
(2) 75 dozen items of ¥ 7.50 each item
(3) 75 packets of ¥ 750 each

(4) 750 packets of ¥ 7.50 each

fmfefaa § 9 T o gl FE §7
) T 750 Yo o St 7.5 T TG
@) 750 o g A 75 T AL

3) z 750 TeIF T A 75 T
44 2750 wei e SR 750 T

SPACE FOR ROUGH WORK / 7% & & feg wme
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56.

Which of the following should be the characteristics of mathematic
@) It shoulg be precise,

It must be ambij

(©) It should be reinforced through child’s lan
(d) It must be highly technical as it will hel
Choose the correct option :

(1) (a) and (©) () (a) (0 and (d) (3) (a) and (d) 4)
ﬁnﬁmﬁﬂm-mmmmﬂﬁWWﬁﬁmﬁ%m?
(@)  T® W Bt uifen

(b) “mmmmwﬁwﬁwﬁgwl ”

() ﬁﬁaﬁmvﬁmﬁmaﬁaﬁWW%mﬁsﬁmﬁafﬂmmﬁm

(d) ﬂ?aﬂﬁmmﬁﬁmﬁm&qﬁﬁ?ﬂﬁﬁmﬁzﬁaﬁmﬁwﬁmmﬁmﬁf

W @ 3o K @OTG O @ @

al language at primary leve|

(@), (b) and (c)

(@), (b) 31 ()

57.  Which aspect of evaluation is used when a teacher ensures that test made by her fulfils the objectives
and criteria of that test ?
(1) Reliability 2) Consistency (3) Validity /(4)  Practicality
mﬁmwgﬁﬁaamﬁ%ﬁmmmwéa = F = UE T F W
T R e I e e &2
@ P ) R e @) =
58. See the number Pattern given below :
1, 8, 27, 64, 125, =
What will be the next two terms ?
(1) 256 and 343 (2) 216 and 343
(3) 256 and 289 (4) 216 and 289
in 19 faw o Hem 4 = <fEy
S 1,827, 64, 125, .
A 2 e 3 g 2
(1) 256 3T 343 (2) 216 ¥t 343
(3) 256 3 289 @ 216 3 280
.
SPACE FOR ROUGH WORK /T FE & fow
Pl [ mm 18
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‘matics,

gt

FEm

59.

The sum of all angles of a triangle is :

() 180° (2) 3s0° @ 60° (4] 907
e R B T A

u(’)/ =0 @) 3s0° @) 60° (#) 90°

While solving 182
-67

in class 11, a teacher explained that we have to subtract 7 from 2 and 2 is smaller than 7. So we will
Pporrow one from 8 and then we can subtract 7 from 12. One student told teacher : Mam ! why we
are borrowing from eight, as borrowing is not good. What a teacher should do in such a situation ?

(1) Teacher should tell the student to focus on learning the algorithm of subtraction.
(2) Teacher should ignore the student’s question and continue with her work.
(3) Teacher should scold the student and make him sit.

(4) Teacher should change the word ‘borrowing’ to ‘regrouping and then show the process of

regrouping.
FMOHT 182
=67

ﬂﬁmmﬁmﬁwmﬁﬁ7ﬂzﬁ%m%mzm%ﬁx oo e 88
Gmmmmﬁmuﬁﬁ?ﬂﬂammﬁl T A Sy § @ : Henl 7 8 I
i @ T E | SHR e ez 7 B 1 T e # e A =16 7

1) mﬁﬁﬁmmﬁmﬂﬁmﬁﬁnﬂ@mmil
@) mﬁma‘raﬂﬁsmaﬁmaﬁmmaﬁmm1
(3) Sy ) s ) e L 4e a e
/m’ amﬂﬁ'm'ﬁﬁW'W'Ww_ﬂmaﬂ?Wﬂm
fear =i |

SPACE FOR ROUGH WORK /T% = & forg
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62.

63.

Sl LT

PART - 11l / 9177 - 1y
ENVIRONMENTAL STUDIES / Tafayo g

Direction Anstoer il
Fder . Ferfatam

61,

¢ following questions by selecting the correct/most appropriate options.
wwme@%mmmmmm;

Read Statements (A) and (R) properly and then answer the following questions,

(A) : Silkworm can find his female worm from many kilometers away by her smell,

(R) : Some fomale insects relense ‘Pheromones’ which can be recognised by their males by smej|
Choose the correct answer :

(1) (A) is correct but (R) is incorrect.

(2)  (A) is incorrect but (R) is correct.

(3)  Both (A) and (R) are correct and (R) explains (A),

(4)  Both (A) and (R) are correct but (R) does not explains (A).
mm;mqmﬁm#w%wﬁnﬁmmﬁmmii

(A): mwmmwaﬁmﬁwﬂﬁﬁmﬂgﬁﬂwﬁm%l
(R) : F9 AR FrE i g ¥ sy H TS g a
ﬁﬁfafaaﬁﬁm?ama\?rg‘aﬁﬁ:

(1) (A) 58t # foreg (R) e &

(2)  (A) e # fveg (R) e &

A WW(A&J@{R}W%W(R}.(Alﬁﬂﬁmm%r

) eﬁfwwwnmﬁ%ﬁﬁ(n).mmm?amwﬁm%u

Which of the following best reflects child -centred strategies in teaching EVS at primary leve| ?
(a)  Discussion (b)  Demonstration
(¢) Lecture (d) Survey

(1) (o) and (d) (2 (a) and (d) () () and (b) (4)  (b) and ()
ﬁqﬁf@aﬁamm—mwmw =01 91fe £ 7

(a) =i (b) TEEH

(€) =rEE (d) e

O OR@ 0 gw@ e arvg @ @) s

20
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r smell.
65
vel ?
66.
o form

N T

By 24 awer (1) T (1) FE ¥

spochampalli” is famous district for its beau :
ST o ) Hfully desipned bright coloured sarees and for the
special kind of weave which is also called Pocham}[;nll‘ifﬂ%t isa paEl of ¢

(1) Maharashtra  (2) TeIanganu\'f (3 Tamil Nadu (4) Karnataka

e B e s R R R e L T & 1 e %1 e for off e € F
4 3 fee fr e 1 7 P 2 ,“ﬂ?mm b

(1) WS @ F [ @y ey (4) AEE

Read the following statements ca.refu‘xly[ :\v“

statement (I) : EVS syllabus is dividﬁ,iipto 6 themes Water, Relationships,
Shelter, and How things work.

gtatements (11) : The themes of EVS are close to children’s life.
(1) Statement (I) is true and Statement (I0) is false.

(2) Statement (I) is false and Statement (I1) is true

(3) Both Statements (1) and (II) are true

(4) Both Statements (1) and (II) are false

Food, Transport,

Frfafas Haai & e 4 e
o (1) : % =it T e w1 6 o H At T & o, S w6, ﬁmﬁ,mﬁ,mqﬁa&gﬁﬁ
Eaekeaindl L0

m(m:iﬁﬂm%zﬁﬂaﬁf%ﬁﬁaﬁ%ﬁ%tm%n

(1) () W ¥ U e (1) T E

@) o (1) TR & T e (1) W
£

(@) i e (1) T (I1) T T
ation means holistic way of evaluating a student. The ways in which an

Comprehensive evalu
er students for comprehensive evaluation in EVS are

EVS teacher can assess h
(1) rating scale during assessment of activities

(2) portfolio
(3) teachers’ observation

(4) half yearly and annual exams
mv@hﬂmmﬁﬁaﬁm : mwmtmﬁgﬁmmﬁmﬁ

mwtmmaﬁmmﬁ_ﬁmﬁﬁ’%:
%ﬁﬁﬁﬁﬁﬁ{ﬂfﬁ%m’tﬁﬂﬁ@
@2) e

(@) o F1 FAE

(4) e st e TR

70772
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67.  An EVS teacher taught about animals to her students and ask them to do the following task
(3)  Write names of various animals around them
() Observe activities of different animals ")
(c)  Classify animals into categories based on obseryatipns
(d) Define the term ‘Animal’
Which of the above is NOT appropriate for students of drimary level as per the nature of EVS g
primary level ? -
(1) Only () @) Only (d) @) @add(©) (@) (b)and ()
T et fafir 3 o ol B T W Y v frefafan #@ F + fau a1
(a) @mE-v™ & fafy= sl & W fafae) -
(b) fafu= srad #i wfafafiudl =1 sEeET w30
(©) HEEE F AR T A F A ity F4) -
(d) STE F gforiaE S0
IR H B FH W Wi = F 2 e S a2
A1) FF9 (o) (2) e (d) (3) () F () N () IR (9
68. Read the following statements carefully and choose the correct ophions :

Statement (A) : Xylem transports water and minerals from roots to rest of the plant.
Statement (B) : Phloem translocates food from leaves to various parts of the plant.

—

(1) (A) is true, but (B) is false (2)  (A) is false, but (B) is true
(3) Both (A) and (B) are true (4) Both (A)and (B) are false
20 T Fordl 0 A 0 wH W e gy L)

FA (A) : ST T A @ F T N A e 7 v
Fa (B) : WeluH S e B N % iy v i e E
(1) (A) T % iR (B) Ted ¥ @ (AT :&'iﬂ'((B)‘e‘lﬁ%l
37 2 (A) 3 (B) TE F (4) i (A) SR (B) T T £

|

69.  Nina, an EVS teacher of class 5 gives a group assignment to her students that they have to visit
nearby agricultural farms and find out information about the implements used by farmers during
agriculture and the type of crops they grow. They also have to collect photographs and prepare a

report. What process skills and learning indicators are involved here ?
(1) Hypothesising, inferring, expression

(2)  Prediction, experimentation, observing

(3)  Questioning, Expression, Inferring

(4)  Questioning, Experimentation, sensitivity towards environment

msﬂ%ﬁﬁmﬂaﬁﬁﬁwwmﬁ%ﬁ%ﬁﬁw%wmmmmt
aﬂ(;ﬁ%ﬂmﬁmﬁmwmmﬁmﬁwaﬂﬁ#mmﬂﬁwmﬁnﬁﬁ
SAFR 9w F | ﬁ@aﬁmmﬁﬂéﬂmjﬁﬁl e WA A 9 we s dred §

Heas e &7

(1) fewen, gfems Fraerm, st =)
(2) S, Wi, s ~
(3) W F0, A=l 2, vy e ~

A3y S T, WA FH, e v st E}:]ﬁ

P BN 2z Y] K
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- 70. Which of the following sets depicts the themes of EVS at primary level ?

(1) Family and Friends, Travel, Natural resources
(2) Shelter, Travel, Things we make and do

(3) Weather, Water, Travel

(4) Food, Material, Shelter

Fresfften % & 7 @ T s, w70 w0 fdvem o ol ) i 2
/m/qm iR firs, =, W Sanm

(2) ST, T, =N e e e wa

(3) s, w3

(4) ieE, S, JEE

Doctors prescribe blood test for patients to confirm malaria. Blood test is done to :

(1) check for eggs of female anopheles mosquitoes in blood

(2) check for microbes in blood

(3) check for haemoglobin in blood

{4) check iron in blood

T T T w1 v % g g sty w0 % fon ffm e o ma H siea
(1) =54 911 5= & S 1 Iurefd 1 e =em

@ = SufEE a9 S|

(3) THH SHrEA erEretE 1 G Ser |

(4) S99 IUFYT TIE a0 FI A FHOGAl Her |

Textbooks of EVS should reflect the recommendation of NCF 2005 of linking students’ life at school
to their life outside. This implies :

(1) Textbooks supports students to construct knowledge through all the given activities.

(2) Teachers need to use textbooks as one of the teaching learning resource.

(3) Students are compelled to memorise few important concepts of EVS,

(4) Textbook is the only source of knowledge.

i % Mgl ) faeredl T 3 Sita I S A e § Sred i eRHies, 2005 F fEwE
71 yfafafan o7 =ifeq | o o ¥ :

mﬁuﬁﬂﬂﬁwﬁwﬁ!ﬁﬂ?wﬂmmﬁmmﬁmmp

@ ﬁmﬁaﬂqmg«rﬁaﬂﬁm-mfm#ﬂwﬁwmtmﬁwmﬁaﬁmh
3) farendl £VS % Ewa sAMTIOSH F AR A & e A ¥
(4) TEIgE T4 FI THAA HA €1

S AT = &
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sisar Lake is NOT true ?

statements regarding Ghad

Which one of the following

(1)
(2)

It was connected with nine lakes.

It is in use tll today.

(3)  King Ghadsi of Jaisalmer got it made.

(4)

It was built around 650 years ago-

AT sl

e A i frefefaa Fud § 8 $H-6 T H

1
A2)
?3)
(4)

e = el 4 71 N o
e AT A oy
SHErR e T 1 58 5 Al
g ST 650 el et =1 T Al

Seema, an EVS teacher organised a field trip to zoo for her students. Which of the l’cn].luwingat
the most appropriate objectives of the trip to the zoo ?

(a)
(b)
(<)
(d)
(1)

Recall names of animals in the zoo

To relate concepts related to animals

To promote process skills

Assessment of students’ learning at the zoo

diw, v deftum fafas 3 @ ol & foe fafeann wF A Wl (Wies f29) F1 wmEe G
Frferfaa % & == fafearen =1 951 % wa g w2 87

(@)
(b)
()
(d)
1

Fafeamn & sFad & 7 72 Fw
ST | Heifm sTaRona @ s
WfsHaT et 1 wgE

fafearr & o6l % e 91 smem

Pgt Tgt Prt A to Z Updates of Dsssb.
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Ravi took some water in a glass, He
water, half a spoon at a

1)
@)

: Puts a lemon in it. Th,
time. After some time,

Lemon splits in water,
Lemon sinks in water,

en, he keeps addi into the
e ps adding a lot of salt into the

Lemon remains mid-way in glass of water.
Lemon floats in water,

3 v & 1ot foren | 3o ey
®, S = v A ?@quq:g
(1) g s d 8 Rukeices o

(3)

P-1 NNy

T 3 e %, =% 38 firemas 4 arg ey 7o 90

te w7 H =@
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76. A chapter in EVS textbook of NCERT describes Wahida Prism and her experience in the Navy as
\ o doctor. What are the reasons for including this chapter 7

| (a)  Her experience challenges gender stereoty pes

A (b)  Her story gives a peep into the life of a medical officer in the armed forces

{ () Understanding that prism reflects 7 colours

]
E I (d)  Understanding the difficulties faced by her and her ways of tackling them
l (1) () and (d) (2)  (b), (d) and (a)
(3 (@), (b) and (c) (4)  (b), (c) and (d)
I

v w A, w {f ow. wErpEE % s 1 ade w0 e sl A @ 2 F e A
v & = & g e W e o §
' (a) T v s wfol et 2 g

(b) F! O TR well o v fafen s & Sfee #1 U aer A g

(¢) =% Tue i fawm 7 4 1 qwim &)

fe (d) T A A e FHfamg sf T froed w5
(1) () 3 (q) A2 (b), (d) 3% (a)
@) (@), (b) 3 () 4)  (b), (c) #fT (d)

- 77. Which of the following strategies promotes inquiry while teaching the theme ‘Food’ ?
(1)  Asking students to find out food preferences of their family members.
(2) Showing pictures of various preserved food items used in different regions of India.
(3) Asking students to collect pictures of various food items.
J (4) Demonstrating fireless cooking of sandwiches, shikanji (lemon water) etc.
, FrcAfefaa & @ # w wEify e dim w e T e w e S f?
| orHl | I uftaw & weE #1 w@e ) He F g e # e e |
j (2) v % fafvr dni # s fy 0 A fafu fudie e e F fa foem
i (3) ol A fafy= e vl ¥ fod o F0 F e
(@) Hefam, fesll (f are) afg #1 fa s & T w5 e

78. Consider the following statements (A) and (B).
. Statement (A) : Bora is a common variety of rice used in Assam.
Statement (B) : Paddy grows well in clayey soil and requires a lot of water.

ot W Select the correct code from the following.
€ (1) (A)iscorrectbut (B) iswrong  (2) (A)is wrong but (B) is correct
-l.‘ (3) (A) and (B) both are correct (4)  (A) and (B) both are wrong
g g e (A) o () P
i mm;mmﬂwﬂmﬁaﬁmqﬁmwmmh

_- He (B) : i %) e e firgt A s @t & wA ¥R HEE ®) AT 9 e
e 4 @ wh s 9
) A twe) @) (A)TER # 96 (B) W ®
W@ Tht @) (A) 3t (B) A e &
LTI 25 K

T

i
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80.

B1.

k We Do’ helps his stug
The edges are glued togeu-,,,i
hould Alex help his students focu,?"
sthetic sense.

ntroducing the theme Yo

: ile i
Alex, an EVS teacher of class 3 while the strips to make a mat.

i nd weave 0
:J;lf: li,o‘];;?\}ﬁs}mp;:{ p\?\rfifi;; of the following ubiec.uves 8 ¢
(a) learning about colours, patterns and developing an @
(b) relating the activity to weaving done by weavers.
(<) memorising the steps of making mat.

i i erfectly.
(d) choosing papers of attractive colours an cutting of strips p ¥

d learning

(1) (a), (¢) and (d) (2) (a) and () 2
3 . (b) and (d) 4) (b), () and (d)
%B(QQ(:WMW#‘E%@W?mﬁwﬁﬁgﬁmmﬁm‘

i A % e T # v
i el ) et SR W W e e A A T G T _ »
Fagaman s #1 ﬁﬂiﬁﬂﬁaﬂﬁﬁmmﬁmﬁaﬁmﬁaﬂ T ShEd FT 5 TR T ey
(a)  t, ¥ it wiee i g A fawfem w
() T ity = AR BT W Sl AR 8 Fafu| ]
(c) e = = ki faf F =l h A FHA
(d) s i 3 S 3R e T e | e e
(1) (), (o) () @) (@) ()
B (@), () 3R (@) @) ) M@
Which one of the following statements regarding Al-Biruni is NOT true ? Choose the comed
answer.
(1) He did not write anything about ponds in India.
(2) He has praised the making of ponds in India.
(3) The place that Al-Biruni came from is now called Uzbekistan.
(4) More than a thousand years ago, he came to India.

- fereet 3 it Fraferf el R B O e T R 2 W I
(1) FE3 9T F 39 999 % qEl & 98 E g ot 7w e g

7y T S v R e A R T e g

() e-faed ST | o A TR e I T 8

(4) FERH i € U U5l ¥ T A 4

Which one of the following regarding Johad is correct ? Choose the ¢

(1) It pumps groundwater into nearby wells,
(2) Stores water from rivers,

(3) Itis a community based rain water harvesting s stem
(4) It filters impurities from water, 2%

(1) @ AEIE F FE H i 57 vy T
(2) e Afedl B 9 e bii .
(3) € FHETA S = e e yomeh #)
Bt wmﬁ!ﬂeﬂm&faﬁmmm

orrect option.

bukis:cf!

Pt (IR

82.

B3.

84.

2

R¢
R
(2

@
(4
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[ |
:t ‘ §2.  What is the mass of an object witly a density

of 12 g/ml and a volume of 3 ml ?

1) 36
(1) 8 (2) 4p ~ @B) 15g (4) 24g
wmmwwmﬂqmm&fgwmwgmmammh
36 . &
)]/] 6 (2) 4m, ~J (3 15 (4) 24w

'. N
~d

}r $3. Read the given statem ‘N
ko < ot camhlﬂ-v‘ | choose the correct opton.

Ty
L1¢)

Assertion (A) : W \sily
(A) € can cook food casily at sea Jevel as compared to higher altitudes.

Abhigh altitudes, boiling Ppoint of water increases,
(1) (A) is true but (R) is false,

Reason (R) :

(2)  (A) is false but (R) is true,

(3)  Both (A) and (R) are true and (R) is the correct explanation of (A).

(4)  Both (A) and (R) are true but (R) is not the correct explanation of (A).

fau T FuHl o ?Fﬂ?'ﬂifﬁﬁqgﬁ:
AfvRer (A) : wmﬁé#@;ﬁwaammﬁwmm%
FRT (R) : a?ﬁﬁ;iﬁnémwmiawhaam%x

N

(1) (A) &= 2 AfFA (R) 39 21 N
(2) (A) 518 € AfFA (R) T £ <i;'l
Waﬁmlsm(n)w%aﬁt(m,{:n%mﬁwmg,

(4) =i (A) 3 (R) 9 € @A (R), (A) F1 & Tt 747 &

It has been observed by bird watchers that there is a peculiar species of birds. The male bird make
their own nests and the female bird looks at all the nests and selects the one she likes the best and
decides in which nest to lay her eggs. The name of the bird is :

(1) Indian Robin  (2) Sun bird (3) Tailor bird (4) Weaver bird
feeii Wmﬁmﬁ#mﬁwﬁ‘%fﬁﬁwﬁwﬁmmﬁﬁv%ﬁ - ST S A

% ww&ﬁaﬂﬁ«ﬁﬁmz’m@ﬁﬁﬁﬁmmm%mﬁﬂna@%ﬁwﬁm
FAE| FHUE B AT E -
A, Y

oy s @ mzﬁ:’ (@ e (o) o

| |
‘N
S [T g 2 K
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86.

B7.

A fewree w2w, o, famm :

P-1 I 28

Pl
Assertion : The theme ‘Family and Friends” isa mlaior tﬂe;:i‘;::l:‘:vs and ‘Plants and AN"W b
are presented as a subtheme of ‘Family an . . a
Reason : The}inmrdt‘pendence of human beings and other {ch_ms of life is hlghhﬁb‘
through themes. i
(1) Assertion is true but the reason is false. \ %)
(2) The statement of the assertion is false but the reason is true. J

(3)  Both the assertion and reason are correct and the Reason is e crrect explanation of t,

Assertion, .
(4)  The assertion and the reason are correct but the Reason is not IEQC'_UITKt explanation of fy
Assertion,
a:ﬁaam:m-qﬁaﬂmm'mawmzﬂwm'mﬁmf@ﬁ‘ﬂ'mmm
39-419 F w9 H v A 5 g
WO oftm ¥ g W S A % S w6 ) S N ST
(1) sfiem wet & A Fro Tem )
(2) SR 7oA § g R TR T
AT SR iR o S T € SR R s w5 we e € ‘
(4) e i FTn T € S o, S w5 gd sren T w6 8 |
|

Students conduct a survey in their homes and neighbourhood to find out the number of Membey,
and approximate amount of water used in each family. What skills and-processes are developy

through this activity ? m 89.
(1) hypothesising, inferring, expression .
(2)  prediction, experimentation, observing u-') 1

(3)  questioning, experimentation, sensitivity towards erwimnmenf:(.\‘I

(4)‘ questioning, inferring, expression 1
T WA A ] 1 HEn Sl T # ST T ) ww  w emh S o o o
# e w0 F ) A e QS A ok el et o 8
(1) uftEeT, afom e, afisfm P~

g/ujm,m,aﬂ'ﬂ
S I, T, e 3 ¥ e 9.
(4) g, 9fom fEeE, et

The territorial states of Haryana are :

(1) Himachal Pradesh, Punjab, Bihar J
(2)  Bihar, Punjab, Uttar Pradesh |

(3)  Himachal Pradesh, Rajasthan, Uttar Pradesh

(4)  Uttar Pradesh, Uttarakhand, Madhya Pradesh

—
P,
o
N

(4) I T, IHAEE, Weg gy M~ = d
P~
O
P~

Sl
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86

89

Consider the following statements about beehives ;
(a) Honey bees live in beehives, Every beehive has one queen Bee that lays eggs.
(b) There are only a few males bees in the hive which have special roles as workers.

(c)  Most of the female bees in the hi the day in making the hive
and also looking after the baby boes, R € e R EEEEE 5

(d) The worker bees fly around Litchi flowers in search of nectar for honey.
The correct statements are :

1 (@ _and (©) (2) (a) and (d) (3) (a) and (b) (4) (c) and (d)

sypafel F B % AR A A2 oy o e w0 frem i

(a) EEEEE MR O H el § 1w o v g v A 2 9 0 2 8

(@) B9 H FT A o 6 ¥ o ¥ fo i ¥ ey # fordw i FW@E | -

© ﬁﬁMmemmt@ﬁﬁmﬁﬂmmﬁﬁWme
|

(d) e T e % e T i ¥ o et e 3 = S T e €

= AT U E

1) (@) 3 () @ @@ @ @ W @A

An EVS teacher asks her students to think and answer “Why do we feel comfortable in woollens

clothes during winter”. This questionisa :

(1) hypothetical question (2) factual question

(3) convergent question (4) analytical question

e forfer ST ST @ W S T 23 3 feru e # o ' A 3 A A S H

e e @ €| T T U B

(1) et e (e g

() @l v (4) fawermomems T

. Read the following Statement (A) and Statement (B) below and choose the correct option :

(A) : About 4700 years ago, some of the earliest cities flourished on the banks of river Indus and its

tributaries.
(B) : About 1500 years ago, cities developed on the banks of the Ganga and its tributaries.
(1) (A) is true but (B) is false. (2) (A) is false but (B) is true.
(3) Both (A) and (B) are true. (4) Both (A) and (B) are not true.

ﬁﬂﬁ{ﬁﬁmmaﬂmmm)ﬁmﬁ%qﬁamwwﬁquﬁl
(A):mnumﬂﬁﬁﬁgamwﬁmaﬁﬁi%mﬂ:@mﬁﬁwﬁ-ﬁl
(B):ﬁmmsmw#ﬁﬁ#mﬂﬂffﬂﬁ*mwmﬂmmaﬂ‘{q‘w|

(1) (A)®e ¥ fobg (B) e B (2) (A) TR & () W R

a7 i (a) T (B) W E (4) 2 (A) T (B) T T &)

29 K
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PART - IV
LANGUAGE - | : ENGLISH

IV (Q. No. 91-120),_';1_51“‘\!
IMPORTANT : Candidates should altempt questions from Part-IV (Q ey 'h"l:_i
opted for ENGLISH as LANGUAGE-I only. — 8

- (9199 ‘
Read the passage given below and answer the questions that follow. ( l,d Took: ot :
OOK : she smj
Yet as soon as she saw him, she did not look as Alfred thought she wou Sthiled, &
94

9

e m forget that her !
blue eyes never wavered, and with a calmness and dignity that ui;l![af ng]ri and iaid politely = :%
seemed to have been thrown on her, she put out her hand to Mr. %

Mrs. Higgins. I'm Alfred’s mother.”

Mr. Carr was a bit embarrassed by her lack of terror and her simplicity and he hardly e
to say to her, so she asked, “Is Alfred in trouble ?”

“Heis. He's been taking things from the store. I caught him _l'e'i‘h‘”_‘ded‘ Liftle thinge like COMmpay?
and toothpaste and lipsticks. Stuff he can sell easily,” the proprietor said.

Mrs. Higgins put out her hand and touched Sam Carr's arm with an urfderstandﬁxg gentlenes
and speaking as though afraid of disturbing him, she said, “If you would only listen to me before g . 95,
anything”. Her simple earnestness made her shy; her humility made her falter and look away, but i,

moment she was smiling gravely again and she said with a kind of patient dignity, “What do you intey;

to do, Mr. Carr ?” j].

“I'am going to get a cop. Thal's what I ought to do.” '
“Yes, | suppose so, It's not for me to say, because he's my son. Yet I sometimes think a lilﬂegu‘ 96.
advice is the best thing for a boy when he is at a certain period in his life,” she said. f

Alfred couldn’tunderstand his mother’s quiet composure, for if they had been at home and somem
had suggested that he was going to be arrested, he knew she would be in a rage and would ay o
against him. |

H
91. Study the following statements : !

(a)  When she entered the drug store, Mrs, Higgins was not Properly dressed. L
(b)  She looked like the mother of a guilty person, @
(c) Mr. Carr did not expect her to be calm and dignified. "

(1)  (a) and (c) are right but (b) is wrong,
(2)  (a) and (b) are wrong but (c) is right. )
() (@) and (b) are right but () is wrong. B
(4)  (b) and (c) are right but (a) is wrong,
92. “... made them forget that her clothes seemeq. * :J
The underlined word js a/an

(1)  Preposition (2) Conjunction (3) Noun |

Pl

30 P
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98.
i

Which of the following statements is not correct 7

(1) At Mr. Carr’s accusation, Alfred's mother felt intimidated.
(2) Yet, she was very gentle in responding to him.
3) Alfred was a petty thief.

(4) He stole cream, compact and lipstick from the store.

Which of the following statements is not correct ?

(1) When she introduced herself, Mr. Carr felt stupefied
(2) He felt that he would have to forgive Alfred.

(3) Athome, Mrs. Higgins would have been enraged.

(4) Outside, her conduct was like that of a caring mother.

..... he hardly knew whattosay toher.'
The underlined is a/an clause,
(1) Adjective (2) Adverb (3) Principal (4) Noun

Study the following statements :

(a) Mr. Carr intended to get Alfred arrested.

(b) Mirs. Higgins wanted him to be given a chance to reform himself.
(1) Both (a) and (b) are right. (2) Both (a) and (b) are wrong,
(3) (a) is right and (b) is wrong. (4) (b) is right and (a) is wrong,

’.... her blue eyes never wavered'.

Choose the word nearest in meaning o the underlined one.

(1) waved (2) snickered (3) advanced (4) Thesitated

Having looked at his mother, Alfred was

(1) pleased (2) surprised (3) shocked (4) scared

‘... her humility made her falter..."

Choose the word opposite in meaning to the underlined one.

(1) intrigue (2) hitch (3) pride (4) frankness
3
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Read the extract given below and answer the questions that follow. (100-105)

All the world is a stage,

And all the men and women merely players;

They have their exits and their entrances;

And one man in his time plays many parts,

His acts being seven ages. At first the infant,

Mewling and puking in the nurse’s arms;

Then the whining school-boy, with his satchel

And shining morning face, creeping like snail

Unwilling to school. And then the lover,

Sighing like a furnace, with a woeful ballad

Made to his mistress’ eyebrow. Then a soldier,

Full of strange oaths, and bearded like a pard,

Jealous in honour, sudden and quick in quarrel,

Seeking the bubble-reputation

Even in the cannon’s mouth.

100. Identify the figure of speech used in the first line.
(1)  Personification (2) Hyperbole (3) Simile (4) Metaphor

101. “..... their exits and entrances....
The figure of speech used here is :
(1)  Personification (2) Hyperbole (3) Simile (4) Metaphor

102. Why is the lover’s sign compared to a furnace ?
(1)  He offers warmth to his beloved, (2) He is writing a ballad.

(3)  He gets angry very soon. (4) He feels emotionally charged.
103. A soldier is jealous about his honour as :
(1)  he is ferocious like a leopard. (2)  he wants to win at any cost.

(3) he is jealous of his enemy. (4) heis very sensitive about his honour.

104. What do all men and women do ?
(1) play outdoor games like football, crickel, ete,
(2) fight wars
(3)  perform various roles in life
(4) indulge in indoor games Jike chess, cards, etc,
105. A school-boy :
(1)  likes his teachers,
(3) s reluctant to go to schog,

(2)  both (3) anq 4)
(4)  looks beautify] in the mornin -
L T I 32

[ ———

106

107.

108.

.09.

Pgt Tgt Prt A to Z Updates of Dsssb.

Join Telegram



06 which one of the following is NOT true abg

" The library should not just be seen oy a sto
chers and other ad

(1) tea T adults can also m, ; N

@ a read-aloud of the textbook can be b“MTl Ge“dlng behaviour in the libraries.

) — can = ‘f"Puaed toa variety oll&)res of children’s literature.

(4) asan active environment for engagemnhbvith books

Ul using the library at the primary level ?
Tage space for books, rather

ne in a library.

i ch ’
‘a:!. Which approach/method doesn’t encourag‘{amers to use their native langauge in a language

cdlass ?
Direct thod
[1) N:tu:a;n: or & (2) Qudio-]ingual method
® EESS (4) ¥ Communicative approach

408, Which one of the following should be mastered to be literate 7
(1) Decoding and language comprehension.

(2) Accuracy and phonological comprehension.

(3) Phonological awareness and fluency.

(4) Sight vocabulary and pattern recognition.

. To create an inclusive, welcoming and joyful environment that supports every child's participation
in achieving the competencies outlined in thé National Curriculum Framework (NCF) can be best

done by : L)

(1) displaying children’s work from differbAtomains of development.

(2) decorating the classroom for a colourfﬁ\elwimnment.

(3) conducting indoor activities and avuilﬁi‘g-them from outdoor activities in scorching heat.

(4) majorly focusing on the learners goudr‘i&aiﬂ-n and well being.

10. Which approach/method is geared towards the learner's main goal of using language in a real-life

context ?
{1) Direct method (2) Audio-lingual method
(3) Natural approach (4) Communicative approach

A student of class V says, “I give my work a final check for accuracy before;submitting it to the
teacher” The student is working at the writing stage of :

(1) Proof reading (2) Peer-evaluation
(3) Drafting (4) Re-drafting
ding corner in her class. In making the judgements

i gr&us;]dm-g‘r:d'e mﬁdﬁﬁsﬁfﬁﬁﬁeﬂ% following questions would be most important to
ga £
be considered first ? ;
ird-grade reading curriculum ?
; the goals lm‘-' third-gra &

{(;} W]I.l.l the books he;z add:B:-iate fgc'u' usk inlmore than one instructional context?

o Ul e el £ F bl;aks well-kdown and respected authors of children’s literature ?
::; Are the authors of ﬂ‘esfeor o mdepenta" reading level of most students in the class ?

Are the books written .

s
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113, A teacher 45 Planning to collect a variety of Teaching Learning M"tem]; (T'}"‘E{h}i:‘;r g i

Students. Whicl, one of the following is NOT a correct criterion for choos "S“ 2 g

(1) Tll;e material chosen should be preferably-1dcally made or locally available, as thjy Woug
allow for easy replacement.

(2)  The materialszhosen should be made by lh%ﬂd:en only and have some roughness 0 ayy
slipperiness,

(3)  The material chosen should be attractive ma safe for children of this age group to yg,

(4)  The material chosen should provide ade&e opportunities for the children to explop,
experiment with curiosity.

114. A teacher in class IIT asked her learners to ask their partners five questi.ons about their abijg, f§ AT
using the word ‘can’, e.g can you swim ? This lype of activity enhances : w |
s 1
(1) Free speaking (2)  Passive listening "
(3)  Oral fluency practice (4)  Controlled oral practice 91.
115. Literacy teaching approach that emphasise the relationship between letters and sounds is ;
(1) situational approach (2)  phonics instruction 92.
(3} whole language Approach (4) grammar translation |
116. Which one of the following is NOT correct about teaching grammar effectively ? 93, |
(1) Provide practice in communication.
(2)  Leamn grammar by memorizing its rules-.kl
(3) Promote genuine communication, o
(4)  Elicit relevant rules of grammar, -"\I 94.

117. Which one of the following is NOT the principle-for textbook design at the foundational
(1)  Concrete Principle (2) ?ecgnology Principle
(3) Curriculum Principle (4)  Présentation Principle
118. Children in the foundational stage are more E:(g;:}ed in learning when :
(1)  they trace or write letters repeatedly in their notebooks,
(2)  they focus only on developing fine motor skills,
(3)  they sing rhymes after the teacher.
(4) they use multiple senses and actively use their hands,

Stage]

119. Which one of the following statements is NOT correct with res
Sentence : Rhymes, songs and chants are ways for children to ;
(1)  practise pronunciation, (2)  enhance expression and the rhythm of sentences 9
(3) extend vocabulary, (4) memorize words and sentence structure.

120. A teacher asked the learners to exchange workbaojxs'
of this task is (o ;

(1) give controlled practice of structures, ~J
(2)  develop the skill of Ppéer correction,

(3)  give practice in extensive reading, N)
(4) give practice in using new vocabulary, (8}

LEN T 3&

pect to the given sentence ?

and check their partners work. The abject
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T firet s et el % afer A,
W%Mﬂrﬁa’ﬁﬁm!ﬂl
T S A o A e g o,
TR A A ST we | 7H W e
T AR F wrgary 1 Afa s o)
9 319 i O, S EfieE 3
T et et 4k Rt % aferer 91
100. ST fae =1 49 fed fem £ 2
iy R ¥ e A (@) = = &
@) =1 % %2 i (@) @ F speE-wed @
101. 'Hifa" we= H fo werm &1 vam e o1 5 £ 2
= @ @ 4 3
102. <9 F Se=al F faw
(1) o =7 et =t T (2) =gd T oA fom )
(3) i 1 i oy ) 4y A S ' emgfa &

103. g | 5 'oa’ &1 9@ =1 T §2
(1) =i a5 H T F (2) AR AW 9 %
W SR A 7 e A & (4) = = faeme w6 %

104. <91 F FAAN I FA § UF oAa1 GHF T 47| FT WA i F 6 siw § wfafafas e g
(1) E g 3 =fEE ) N2 weft T e

(3) YRR % FferEE 4 (4) WG AL gFE o
105. ‘w@qEE’ # G- § .

(1) = - s @ + i

(3) @+ fimm (¢4) =+ fimm

106. mﬁﬁm-mmmmm%mtw&ﬁmwﬂga
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PART .y
LANGUAGE - Il : ENGLISH

IMPORTANT : Candidates should attempll' stions from Part-V (Q. No. 121-150), if they have
opted for ENGLISH as L, AGE-I1 only

. |}
Read the passage given below and answer the questions that follow. (121-128)

But the Lion went into the forest and ﬁ::gsh ai;own supper and no one ever knew what it was, for

he didn't mention it. And the scarecrow foun e full of nuts and filled Dorothy’s basket with them,
so that she would not be hungry for a long time."She thought this was very kind and thoughtful of the
scarecrow, but she laughed heartily at the awkward way in which the poor creature picked up the nuts.
His padded hands were so clumsy and the nuts so small that he dropped almost as many as he putin the
basket. But the scarecrow did not mind how long it took him to fill the basket, for it enabled him to keep
away from the fire, as he feared a spark might get into his straw and burn him up. So he kept a good
distance away from the flames, and only came near to cover Dorathy with dry leaves when she lay
down to sleep. These kept her snug and warm and she slept soundly by until morning.

When it was daylight, the girl bathed her face in a little rippiing brook and soon after they all
started toward the Emerald city,

This was to be a wonderful day for the travellers. They had hardly been walking an hour when
they saw before them a ditch that lay across the toad and divided the forest as far as they could see on

either side.
121. Which one of the following statements ilﬂe ?

(1) He shelled the nuts for Dorathy. (2),§ Nuts mostly grow on bushes.
(3) Scarecrow is not caring. {41,_ He knows that the nuts are good for Dorothy.

122. Which one of the following statements igmgt. true ?
(1) He decided to hunt his prey.
(2) Dorothy felt amused at the way E%cww gathered the nuts.
(3) Scarecrow was afraid that the Lio: might kill him.
(4) Lion could not eat the nuts gathered by the Scarecrow.

123. Study the following statements :

(a) The Scarecrow gathered nuts as the tree was full of them.

(b) He feared for his life so he got busy in gathering nuts.

(1) Both (a) and (b) are right. (2) Both (a) and (b) are wrong,

(3) (a)isrightand (b)iswrong.  (4) (b) is right and (a) is wrong,
124. Study the following statements :

(a) Dorothy was obliged to the Scarecrow.

(b) The Scarecrow vanquished his hunger with nuts.

(c) He gathered so many nuts that n;% would remain hungry.

(1) (c) and (a) are wrong but (b) is ri

(2) (a) and (b) are right but (c) is wrong,

(3) (a) and (b) are wrong but (c) is ri

(4) (b) and (c) are wrong but (a) is i

- 125, No one ever knew whatitwas . """'

The underlined is a/an

da@ )
[~ 0 Principal (4)  Noun

(1) Adjective (2) Adverb

il LT

39

Pgt Tgt Prt A to Z Updates of Dsssb.

Join Telegram



126, They kept her Shug h‘
The underlined word nearly means the sarfi.ah © , (4) messy
(1) cosy (2) sordid ‘-“d’ .
127, Which of the following statements is/are (r'ath’
(1) He kept the Lion away from Dl“'ﬂlh"b..\J
(2)  Both (3) and 4) I b
, i ) g L wi ¢
(3)  The Scarecrow was kind-hearted as hclj,? T
(4) He helped Dorothy to keep warm at ight.
128,

"o she would not be hungry’.
The underlined word is afan o deit Ly i 4) Adverb
(1) Conjunction (2) Interjection (3)! " Preposttion @

7 35
Read the passage given below and answer the quwlm“-‘fr that follow. (lﬂz:;i i: the most im

Usually the first question I ask a newbie birder is, “What do you e Portay
physical requisite to be a birder ? Your €yes, your ears, yournose or afny o .t SroHantt

Most often, the answer is “eyes”, but several do home into what is the nl;w: 1_; g 5 ;cu]ly.,
least, according to me : your ears, Spotting birds in foliage is hard enough, but if you hear €m, joy
know they are there, 4 i

But carly the other morning, I realised it w;\i!nuch beyond that. The first bird call [ heard 5
left the house for my walk was the madcap ringi‘&ugh of black-rumped flameback, earlier knm..
the golden-backed woadpecker. Tt was a wild, exultdnt laugh that set the tone and mood fOI‘_the.erh
day. And then I realised that every bird call eva&ej a different reaction, memory or emotion in f,
listener, )

Indian mynas, for example, invariably remind‘me of people in Delhi-always ready to argue an
pick a fight, belligerent and in your face, Yet, t taught me not to make sweeping generalisatioy
because when a pair perch on the window si the afternoons, they have meaningful civiliss
conversations with each other. There s inquiry, humour and affection in their voices.

129. “The first bird call I heard as Ileft the house ...’
The underlined is a/an clause,
(1) Adjective (2) Adverb (3)
130. Study the following statements :
(a) Different chirpings of birds evoke different em
(b)  Sometimes birds make their nests hidden from public viey.
(1)  Both (a) and (b) are right. (2)  Both (a) and
(3)  (a) is right and (b) is wrong, (4)

Principal (4) Noun
oHons in a birder,

i (b) are wrong,
(b) is right and (a) is Wrong.

131. “.... belligerent in your face’
The underlined word nearly means the samg';)':
(1) musical (2)  different ) hostile (4) i
noisy
132, “It was a wild exultant laugh...’ N
The underlined word jg a/an
. ;
(1) Adverb (2)  Adjective (N Noun
(4)  Verb
-l

Pl NN
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" Why should a birder have sl

1) One can easily locate l';:ﬂ ?irs ;

() Their shrill shrieking ca, hu":“‘efheh chirping

3) One can easily distin that they 5 .i
((4 The birds greet each :g:ll;nhe: \‘tii:: thats ¥ iy T
Who is a birder ? €l Morning calls.
i (1) ome who rears the birdg
(3) ome who catches the birds 2)  one who hunts the birds
& study the following statemenys - one who watches the birds
(8) T'l'leAW'r'iher approves of l:h'
(b) Indian mynas are generally |
{© A myna couple can also by fonttes
(1) (a) and (c) are right but (b) ; enjoying themselves,
(2) (a)and (b) are wrong but (¢ is right.
() () and (b) are right but (q) Léﬁ;
(&) () and (c) are right but (a) is wrong,
155_()m.acrft]w!:»asit\»v%q.rtc;le:armaﬁecond ge is:
(1) by repeating and practicing the dia] e ey
{) by joining a speaking coure fo &19015:;::: a:;::gt the audio-lingual method.
) ;’e"zg mt:ntt'_lassmom v_vhere Yyou can focus on the grammar and receive help from a teacher.
(4) by constant contact with native speakers. in their own society.
ii7. 1f children hear two languages spoken around them, this will :
(1) not make any difference to the children, g i s
(2) confuse the children, hindering understanding,
(3) put the children at a disadvantage.
(4) put the children at an advantage.

13, The students learn patterns of language by repeating model sentences that the teacher provides.
They memorise set phrases and receive positive reinforcement from their teacher when they perform
the drills correctly. The teacher is using the :

(1) Total physical response (2) Structural approach

(3) Audio-lingual method (4) Communicative approach
139, This reading has certain learning aims and tasks, learners are supposed to read the text in detail
with concentration and due care, It is called :
(1) Guided reading (2) Pleasure readigg
(3) Extensive reading (4) Intensive reading
ginnin n, a teacher divided the class into groups and asked them to talk about
F 3: L;hrletel:;sl:'mg f:ﬁ;:;zsgrﬁde that they had just read. This type of speaking activity is for

enhancing : :
; . 2) Active listening.
O ey s (o contaled ol pracic
W, Children's cognitive development a'“d‘ language :
(1) development bear no relationship. unity in which children liv
‘ ture and the community Pl
g; il: ::lecl»:ely ::latedplno ﬂ'l; lc::af ing mm“lug.—respo!thlr l:zd aa p:oceas of imitation.
(4) is that an individ ualisbamwithalm”"m”m B

a4
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142,

143,

144,

145.

146.

147.

148.

149.

er should most i_mporla.nﬂy focus on;

To assess reading skills at primary level a language fench
(1) reading at a proper speed.

(2)  reading with understanding,

(3) identifying the letters of alphabet.

(4)  use of punctuation mark.

Whole language approach is : S und-symbO[ relationship

(1) Blends sounds gg g:;jri :_ged

(3) Meaning based , en put the four pj

A teacher asked the students of class V to read the story quickly and = P,
order. The purpose of this activity ista: +

(1)  give them practice in reading for specific information.

(2) revise the new and difficult vocabulary of the story.

(3) arrange the picture cards. !

(4) give them practice to reading for the gist. ) throughtout life.”
“Language learning is an intensive process that begins at birth and continues throug £

Do you agree or disagree with the above statement ?

(1) I partially agree with the statement.

(2) I partially disagree with the statement.

(3) I agree with this statement.

(4) I disagree with this statement.

Assessment tools and processes at the foundation stage should be designed in a way that :

(1) learner’s progress is described and analysed with that of the overall class performance,
(2)  a teacher may use common single method to assess the achievement of all the learners,
(3)  explicit tests and examinations become appropriate for learners.

(4) they become a natural extension of the child’s learning experience.

Learners are memorising grammar rules and vocabulary and large amount of work is done in their
mother tongue. Which method is being used by the teacher into his language class ?

(1) Communicative teaching (2) Grammar Translation

(3) Direct method (4) Natural approach

Along with print books and audio books the books that engage the tactile abilities of young children
should be a part of the classroom because -

(1) it makes books more accessible to diverse learners,

(2) these books will not overly burden a teacher.

(3) it bfings variety to the class and children love variety.

(4) it gives autonomy to teachers to use different books for assessment.

t?uzlihczlﬂagnege nlearningtoread s finding motivation and good children's literature. To overcome

1 P
(2)  School authorities must take Je

(3)  Teachers should motivate them to read a book ey

(#)  Encourage parents to establish a small library at ma Yy as homework.
150. ﬁ; goold speaki;iacl:‘vity is the one during which -
earners 2
53; teachers 1:;:;;& (@ p articipation by gyts k : :
explains more (4)  learners listeng = Poken students is the maximu
ore
P (RN mI 42
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e Supplement

PART-IV& V

1. This bookletis a supplement lo the Main Test Booklet for those candidates
whowish lo answer EITHER Part |V {Language |) OR Part V {Language
1) in URDU language, but NOT BOTH.

2. Candldales are required o answer Part | and Part || OR I/ from the Main
Test Booklet and Parts [V and V/ from the [anguages chosen by them,

3. Queslions on English and Hindl languages for Parl IV and Part V have
been given in the Main Test Booklet. Language Supplements can be asked
for separately.

4. Use Black/Blue Ball Point Pen only for writing particulars on this page/
marking responses in the Answer Sheel.

5. The CODE for this Languane Bookletis I Make sure that the CODE
printed on Side-2 of the Answer Sheet and on your Main Test Bookletis the
same as thal on this Language Supplement Test Booklel In case of
discrepancy, the candidale should immediately report the matler to the
Invigilator for replacement of Ihe Language Supplement Test Backlet

6. This Test Booklet has two Parts, IV and V, consisting of 60 Objective Type
Questions, each carrying 1 mark

Pan-{V : Language-| (Urdu) (Q.91t0Q. 120)
Part-V: Language-l| {Urdu) (Q.12110Q. 150)

(A memlalrsaﬁquewumﬁxwguag&\mﬂm-vmmaﬂqusbms
for Language-II. In this Test Booklet, only questions pertaining lo Urdu
language have been given. In case the language/s you have opted for
as Language-l and/or L llisal ge other than Urdu,
please ask for a Test Booklet that contains questions on that
language. The | being must tally with the
languages opted for in your Application Form.

8. Candidates are required to pt questi in Part-V
(Language-Il) in a language other than the one chosen as
Language-| (in Part-IV) from the list of languages.

9. Rough work shauld be done anly in the space provided in he Test Booklet

forthe same.

10. The answers are |o be recorded on the OMR Answer Sheel only, Mark

your responses carefully, No whitener (s allowed for changing answers

Candidate’s Signature -
Facsimile Signature Stamp of
Centre Superintendent |
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Pgt Tgt Prt A to Z Updates of Dsssb.

Join Telegram:



PART-V
LANGUAGE-TI

URDU
a : DT 7 S
_ﬁb‘u,lc){-,lf]l.c)kji_u,‘fﬁufja“-;bj/ (150 ¢ 121/.2Jlr) V- Urlily i

(128 ¢ m/?dlr).,é.,.ﬁw,pu{;./wﬁufc-JJ’Péé'm'-‘HMWHUJ{, :"'H'
25 sme 3oz Flnie tigivd S B L ”’”“""JLH,L,W{J"‘{“"
<= -:’fd"’J}:!'é-:Juﬂd-L.i:&.g;JI;:‘ELl,L_éJT_lL drble Jd"{f‘f';g‘:ﬁ;u'é'd}"ﬁﬂ“ﬁﬁi
S SRS I, wg,.,bc;“;&:%ﬁ: il Sirl g byt Lﬂ'u':.-,f.fuilf Lp
_.,gi_f;sr.?JJL,ut_.._}'u;@f;.}:‘;u?‘i""‘.:’r’“ﬂ""{'yf r"””";‘l‘ﬂ-"%’?i‘

£ u_.'i.:f.f_:’l_ hi_/r(fu:%f.c}li 1

Slecld () Siewi @S 3 @ S6h @
i ?-fZIJGKJpw 1
et B @ c3euds g
et f1e > @ .;_:-Ta_/:.r.#éf'—‘.):{,a @
¢ ¢ Qb 526 ¥4 m
Sk () ALiEZ e )
aLeuiis @) [-L:{;" @/‘
¢ e By B Le i S 1
JLLd @ ik 0 e @ SE @
¢ G 15
2l = G e g L @)
Irdu-1 il K

Urdu-

Pgt Tgt Prt A to Z Updates of Dsssb.

Join Telegram:



T ekt 126
IR = o b a ey
|
| S et L g O/ LAk s 127
| 00 @ o e,
J U CR SO0 Pl 158U ()
|
‘ ¢ o Gl e grs i fre s 128
=adindidids @ caflabdy
= aduikuln B (1) D R I N o

£ (135 & 129 A1 )2 W i e LB L anien yfe (i iy

a P NLUB Y E i) B & ye ol Usbfin) sl P ud _u?d’;w(f'%(iig!ffd;ﬂau
Jer A_H" | B i & end il Wl ks i1 & PN E JFI8 i\
,L{_;,lfu;éa;m,;,LLL/J’WLJW,U’JJ‘»(*"JJ/L;! UJJf(”.J_’./J’wa

t Bl 129
Uil (4) J p/ Ll () Lol (1)

s Lol s %
EE (@) Sy @) Lty @ S Qs

Urdu-I 12 K

Pgt Tgt Prt A to Z Updates of Dsssb.

Join Telegram



Urdu-1

£ 6”:‘5—;} ™
j i)
e (1) '-,t f’l/ v @ o

' L4.,.4/J1;m{:£¢£;. VAW é

Jodsng Q)/ Sobe) o ‘&;Jg,,;./ (7] S f,

] ‘;"”lg‘-’:"'”r‘:v‘éufi.w;hg 4
= 1 .4 i
i'!"ﬁf""%ulfg 2) “'d"’/"ﬂbﬂﬁjridgg (7

h gt it WS R EH A g

¢ ig._z/gf Q/Zrui[yugﬁ_;:‘,; 2 P
O gemlob 0 wlds @ <HLS, g

4 L(Jliﬂ.‘/fu’gf"_ﬁ o
(_l-d (i)/ (_.J__.(ﬂ (3) é;_d ‘2’ Jff m

+3‘ggf¢;ul¢ﬁdtilif7f n

S LA A I o
St B
.f_/w»wr,r’wué;wur»ﬂ ]
e Do Erdueuid @

13

A

Pgt Tgt Prt A to Z Updates of Dsssb.

Join Telegram:



qu:w 144
~ 0

A BBRET
el i

£

£ oS

Loy s
o
1@
)

s @

JJG’V:)I'LUJ’{,JJ)L,)JF ‘UE&[U)LJin'ILl_rJII ”‘;""%"é"'fl

Lo emek_iized @ b0 ()
fn’.gl"é.éuf (4}\/ b’nuul.-;;é-Luf' (3)

-..Jg‘"‘%fc-gffu‘u».,—mw_?dﬂifuﬁéf_am -u;raf'fu/_'.iup/wﬂb}’dbu/ﬁ)«ﬁﬁ"!J"

137

138
- UL 2 s A7
ar W e o M @ Sded o
Y A I A
gfliu‘-‘f‘{r_ (jln'fwut‘ﬁ. -__;M;ng’.;f.;_Jt?Jéi—_uubﬁrT
Sl Livnis (@) Sl )
St @y ST @)
:L}’ij-{_i"’.r_iLL.f.;ﬁ\;L..;&)jfn_'.—e‘sd'{é‘:d.i;L,ﬁ;k_r:|:J|;T_E)ff-?gﬂ.rs/fulfdx{)l?lwLf{,;;ﬁf 140
-8/
W ) LLF s
2L (41/ LTV @)
ug}»!d?&ﬁ:Ju{- 141
e3> )
- bﬂii/&(bj’f.k;sxg;i:f;;f{-»r;:‘ ﬁ:._. )
e Fe Il Fripe SEENS @
q_&.ﬂ'{;.ﬂfé:{‘ I.L‘J.:«.' Lq'tﬁu,ll_.i)}. (4)\/
| Urdu-I 14 K

Pgt Tgt Prt A to Z Updates of Dsssb.

Join Telegram:



Urdu-I

-"e-t-wg—wwﬁv¢w€-4-’-fj"'*"£-'”“’J&‘-M'M{ .

2y 0 g2y ALl )
L i (4) (gL -

2oy

WEMURAL T @ e TdunnT 1)
&Lk @ &8 g

-L“;’KJ‘&JrT—ﬁréééla_;}fbgy‘-‘/‘l_pAﬂF&.‘..'{C-dtd?f J[%‘l:'.g"u‘{ L-‘_‘-Fb’u_‘{ (512 1
e e L0 @ T ey d Lol psr W
Wiyl Lo @ e

L) bbbl t‘n(’}s;‘a;.u"f'{.;ﬁ.s. J’i ﬁ,!,{fb_ﬁvﬁ; T %

WP e sty |
UL Y byt @ Ul g A )
U0 it @ e g2 o/
) fi—bhwv‘r-:wwﬂf,urf.rr.ﬁ,ﬁ.;w,t‘wu "
PES A derte el o o o o
0% hon ) £ 5,
s -"g“g“""""(—uﬁyﬁ‘fuu!}w’(@l?l @
Lrl?x?b‘é-éuuﬁfﬁ;tl?b:lé[.g‘h (K}
U ?Lfﬁcf:.g,f'&:ﬁéufu @
15 -
K Urdu-I

Pgt Tgt Prt A to Z Updates of Dsssb.

Join Telegram:



MWV VR IR
-?) Lf‘/“; ) S5 e, @)

UK et
uw”‘"'v!r.-aﬁgaw,,u,«u;r,w' 147

2) ik @

O ke s )l LﬁJuéa'_f::: ah YT Loy (O 148

LUzt o b
ettt o)
JUHU‘!‘}{{JULED’ @
Al ETLAL S 1 o
,aEJU}Uthdt-z’liuafcf_affé__&}.;wﬁ:n/l, )

L Liy &% e AL 5 K TSy 249
SV TR L2 S b2y s gff
g___,_i;u:f],,w&u;fﬂa:;uéﬂ’ Lt e Lﬁ.,.D’qur:rTI:r‘_g.fu,,j,,,;f_J,ﬁn ()
LGty U Tisg bl Sapnhitl  (@3)
o /3o ind LeBL5 /0847 @)

Ugen/p SISy 150

SPlSugd bl il @ i @
Uﬁ)L}JE'JJ.’T 4) Sl s ()
-000-

Pgt Tgt Prt A to Z Updates of Dsssb.

Join Telegram:



'qsss(] Jo sajepdn 7 01 1d 161 164 :weibsja| ulop

“ho
o

SPACE ror ROUGH WORK
17

Urdu-I




Whaye. uwfwd-j;a_-J.._.'zrgﬂy.v,f_f_y'i,Uc_x,j,_f.;,_“,;,)fuf.,.;;‘f e AL o v i
itz OMR =BNL 1L Lt ane BB L s in L Jiry
. e e L Oyt AL SIS
f-'U!/‘2‘Uu‘é-;&Ju’wuﬂ-‘-?d'i."L{i'-’%'.'uL?-Fdfb’r"?‘d(z_p_‘-g‘};g_;fd{;d}fc—fqug. CULUAS s
. : gy
_ 27 LJ)ZAJILé.gmm,a'ylawu—z_uy)L;Ju‘ﬁlf’;gqbggﬂ,,‘j_,Um;. S e i
= Az
-f—-lﬁ-“lﬁ"—lﬂ'nsc)u’-urdb)umru/:ﬁyﬁf‘{_m‘;; Py L2417 BEL S P latrar!
EPotrizdie S b ba g, ¥ bbyd LA G At iz OMR
~Us
el SLv L= 6B, 5 ‘u)J';rnfrﬁmu@mgav@r(‘fu‘-d,usﬁ;,x.m,:;_ujugl
- -JH
ey Lol Mol e Jo S U2 s f L NP P s ol
v ARl ol e A e L ST M /wlu;vzm-.-—_-.,.-r
=L 5, SIFIL s Sz S, quf_suaéwws’z_n_. B_"Ula;i;u:’lhi
bbbl b ENL L
7 K AR s SIHE 2 S Pt e
K :'w'rﬁdﬁw'u.»rﬁ-éut‘“uﬁiyady/r-/;‘!ésms»{dﬂ»wéw& uhzr e tin
L bl KU U036 e 1§ et 6 i et
-uflﬂuﬁ-w&{.ﬁfidﬁbulﬁs‘ifié}}
) - LA W 2y g
b L WAL S e o L S L éw&isjé..ﬁumkl; LA b 313 S

U
=

bt

. et
S enllic

Urdu-1 19

10

11

12

13

/e Ve ol e vy 14

~Une el bd | 1 o s
St lr%-l.atdbd'iwf.d;rdﬁ,(éubﬂzr{dgj%lg@uby{;_x&m 2

2R )
: 4.5;:_.1)'!’.:4!4. Lfgé

A

2

K

Urdu-

Pgt Tgt Prt A to Z Updates of Dsssb.

Join Telegram:



Rerraferiea Prdel &) ey @ o3«
1 Fom ven A RIR el & s Re e § e ol o
gmaMmkm:muﬁmmﬁ&nﬁmﬁ;:

.

v v & e Re 7w 9w Rl 4 3 2@ 370 & Bvo oMR

R S 82 W B 0 g @ @ g v v v e

r#ﬂlwmmmmtmmmgﬁmm
|

3 Wgﬁﬁvﬂﬁ%ﬁmw@mam,ﬁmwﬂ

w= frene 3 ool | wend s ;

G e LN IEPAIS Ioe-aw A feulia

4 T R 0 3 et v o, wis R o

e # (S e e ™ I o b w @ v @

ﬁﬂ:ﬁmﬂmﬁﬂmlﬁﬁwﬁmgﬁaﬂmaﬂm

4 ]

s i gieesE v A R o i e S w wen
e 3R % § TR R

OMR 357 W # Sifts ATl © va A it e o

0t gw If = O i 9 e X & o g A B ah

= =i

7. e @@ when e F veos & g v @

TE-TE, #fea W wdlaten, SO S o, T, des

F, e T 1 (3 Te @ Hed @ a9

T S B g = 8

8. TS T, 07 FAR g (e S swe A o) 3 s

ofvafta Tequ ohen Forea A 58 o 9t e | 38 TEE &

T & Ee W 3 T & Sgiun Al &1 EE He s A

et fe wvefand @ A, when =& weE ARl

8. B I W v wdar, ies 3 s viewe Ra |

10 5= yfigs @1 faites 2t i s & @ o1 Wl

IUET WIS F B8

1. = rfters @ 3rar 367 T (20 e 6 auEfw w g

Ezme Fou R witenell wdten e 78 eisa | ok R

Chanell 3 Edt A SRR W EE 7@ R, @ T8 A

o 5 a9 3w vw a8 e & st 7 It wee

e T ST | el s Al w3 S v fevena uria-

733 e o7 2 W e E |

12 STt Reas o T A &

1 e Garwe & I & foe sl whem e & @i

et o Faera e Pt €| Srafer e & el et &1

T e @ & Pl 0 R & g &l

14 Fof o otfiaty 31w g ot 360 TR 1 B o S

el |

15, e e A9 T, whard e v 3 gf s v e

2 srva 10 E | gdiendl A ave g8 v gfiaw @ o o @wd

#

L

15

READ THE FOLLOWING INSTRUCTIONS CAREFULLY :

Each st show isher Admi Card lo the Invigiator
No candidate, without special per ion of the Cenire Superi or
Invigitator, should leave hisher seal.

. Th should not ination HalRoom witholt handing
over their Answer Sheet to the invigilator on duty and sign the Allendance
Shesttwice. Cases didate has not signed the Atiendance Sheet
second il be nol the Answer Shest and

Tanmnmmmmuummm
Explaned in the Test Booklel which you snould read canstully before actually
answenng the questions

Ot of e four allemaives for each question, only one cirde for fhe comect
An=wer i 1o be darkenad completely with Blue / Black Ball Point Pen or)
Side-20f the OMR Answer Sheet The answer once marked is nol kable
1o be changed

‘The candidates shovld ensiure thal the Answer Sheelis not folded. Do not
Mmake any stray marks on the Answer Sheet. Do nol write your Roll No
anywhere else excepl in the specified space In the Answer Sheet

Handle the Test Booklet and Answer Shest with care, as under no
Greumstances (except for discrepancy in Test Booklel Code of Number
and Answer Sheet Code or Number), anciher sef will be provided

The candidates will write the comect Test Booklet Code and Number as

given in the Test Booklet/A Sheetin the Atendance Shest.

A machine will read the coded information in the OMR Answer Sheet
Hence, nonf shauld be left incomgl l different
from the information given in the Admit Card

Candidates are not aliowed to cay any textual material, printed o written,
bits of papers, pager, mobile phone, elecironic device o any other material
except the Admit Card inside the examination hall/mom.

Mabile phones, wireless communication devices (even in switched off
mode] and the offver banned flems should not be broughtin the examination
halisirooms. Failing to comply with fhis instruction, it will be considered as
using untair means in the examinafion and action will be taken against the

of

desalt with as an unfair means case. The candidates are also required to
put their left hand THUMB impression in the space provided in the
Aftendance Sheet.

Use of Blectronk Calculatoris

The e y all Rules and Regul fthe iné
Body with regard to their conduct in ihe Examination Hall/Room. All cases
of unfair means will be dealt with as per Rules and Regulations of the
Exarmining Body.

Na partof the Test Booklel and Answer Shest shall be detached undes any
direumstances.

On letion of the test, th: did hand over the Answer
Sheet to the Invigilator in the Hall | Room. The candidates are
allowed fo take away this Test Bookiet with them.
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